PRZEKROJE POPRZECZNE
SKALA 1:100

Puionn = 0,22 m?
km 2+249 Puspn = 0,36 m?
136,68 Liuns = 5,60 m

Le =500m
N ‘ Lo =440m

Puyion = 2,24 m?

km 2+273 Pusen = 0,00 m?
Liwms =4,70 m
L =500m
Li =490m
Puyiom = 0,22 m?
km 2+335 Pusyn = 0,56 m?
13571 Lims =4,10 m
L = 5,00 m
Lo =190m
Puyion = 0,61 m?
km 2+373 Puspn = 0,90 m?
13445 Liwms =5,70 m
o Ly =550m
AL ‘ ‘ Lk =430m
Pusiom = 0,15 m?
km 2+421 Puspn = 0,84 m?
Liwms = 5,40 m
L =550m
Ly =370m
Puyiom = 1,07 m?
km 2+481 Pusyn = 0,15 m?
Liwms =4,50 m
Ls = 5,00 m
Lo =320m
Puyion = 3,24 m?
km 2+526 Pusee = 0,00 m?

133,18 Liwms =6,20 m
' : L =500m
L. =530m

Puyion = 0,08 m?

km 2+590 Prasn = 1,33 m?
13295 Lims = 6,30 m
L =500m

‘ L. =420m

Objasnienie:

Puskom - pole wykopu

Puasyps - pole nasypu

Liums - dlugos¢ zdjgcia warstwy humusu
L: - dlugos¢ warstwy $cieralnej

Lo - dlugos¢ skarp



